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33oteMal | AL | = —
(m/2) == BOD TOC SS T-N T-P s S oH BOD
(mg/L) (mg/L) (mg/L) (mg/L) (mg/L) (ZH/me) (mg/L)

S 2,000 68 126.3 43.7 129.7 33.174 3.122 64,000 7.4 1.9
A 2,000 68 127.2 45.1 138.5 33.700 3.736 60,833 7.4 2.2
AEM 800 6 113.6 22.6 127.1 25.070 2.735 44,100 7.1 1.5
=t 500 6% 112.4 27.1 127.1 23.764 2.615 44,967 7.1 1.2
MH 500 6 113.6 41.2 130.5 30.116 2.963 48,167 7.3 1.2
o 120 6 136.1 67.1 142.4 42.846 2.882 65,400 7.3 3.2
M7 90 6E 114.8 25.4 116.0 23.513 3.215 58,000 7.1 3.6
—+<t 85 68 121.0 40.8 140.0 35.483 3.614 67,500 7.4 3.2
QA 80 6 87.2 27.9 132.0 34.560 3.096 47,500 7.4 3.1
St 80 6 117.6 28.3 131.2 31.398 2.969 55,800 7.2 3.4
T2 54 70 6 125.0 46.7 104.0 28.068 2.470 46,000 7.1 3.0
ot 70 62 99.8 30.7 116.8 29.496 2.809 52,800 7.1 3.4
= 70 6 126.7 24.2 124.0 34.920 3.573 43,500 7.2 4.0
s 60 68 113.3 53.9 135.0 48.653 4.215 59,000 7.2 3.3
=X 40 6 128.3 17.9 136.0 20.070 2.076 53,000 7.1 3.9
=4 40 68 81.0 33.5 124.0 32.160 4.290 57,000 7.0 5.0
fEy 40 6% 1451 20.4 100.0 30.480 3.462 48,000 7.1 4.0
Q| 35 68 157.9 49.3 116.0 36.510 4.332 78,000 7.1 3.8
5 A 25 ! 135.0 32.9 108.0 33.630 2.772 44,000 7.1 4.3
=g 57 6 - - - - - - - -
or 50 62 - - - - - - - -
& 60 6 - - - - - - - -
i 48 62 - - - - - - - -
il 45 6 - - - - - - - -
A 38 62 - - - - - - - -
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TOC SS T-N T-P ST Hl 1
(mg/L) (mg/L) (mg/L) (mg/L) (7 /me) Pr
4.2 2.2 5.461 0.072 19.7 6.7
4.7 2.8 10.074 0.085 8.0 6.7
41 2.0 8.276 0.187 5.8 6.7
3.4 1.9 6.877 0.059 2.8 6.7
4.0 2.3 8.026 0.081 1.8 6.7
7.5 3.4 12.518 0.189 19.4 6.7
4.5 2.3 9.855 1.399 3.3 6.7
5.1 2.1 9.972 0.679 43.8 6.9
6.2 2.9 10.869 1.033 6.3 6.9
4.8 3.5 10.786 0.417 13.0 6.6
4.6 2.6 10.121 0.227 7.4 6.7
5.9 4.4 9.737 0.908 16.4 6.7
7.7 3.2 12.381 1.134 15.5 6.8
7.8 4.6 12.396 0.998 18.8 6.7
11.9 2.9 8.244 1.130 37.0 6.6
7.1 3.8 9.108 0.523 22.0 6.6
8.2 4.8 8.412 1.224 9.0 6.9
15.3 3.2 7.668 0.991 22.0 6.6
9.2 3.8 14.244 1.303 8.0 6.6
- - - - - - Al 220 IHE 2*=FY KT
- - - - - - AAEH 0 IHE =R Y XHE
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